ECON103

European Economic Issues

CLASS 3
1.  Recall the diagram we had for class 1.

Suppose initially that this was the market for rare vintage wines
If the price was below £500 we had excess demand for the good and we assumed that foreigners would supply whatever we wanted at that price. If this good was part of a large international market and we were only small players who could not influence price then this is reasonable, however the international price would determine the domestic price.
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a) Suppose that the international price was €300 and that the exchange rate was €1.50 to the £1. What are the equilibrium price and quantities bought and sold in the UK?
b) Now assume that the £ depreciates relative to the € so that the exchange rate falls to €1 to the £1. What will happen to the quantity and total cost of imports? What has happened to consumer, producer, overseas exporter and overall welfare?
c) Suppose instead that this was the market for rare vintage whisky where domestic supply exceeds domestic demand, for example, where the international price was €900 at the exchange rate of €1.50 per £1. What are the equilibrium price and quantities bought and sold in the UK?

d) If the wine in (a) is the only import and the whisky in (c) is the only export what is the UK balance of payments when the exchange rate is €1.50 per £1.

e)  Now assume that the £ depreciates relative to the € so that the exchange rate falls to €1 to the £1. What will happen to the quantity and total revenue from exports measured in £?

f) What has happened to the welfare of consumer, producer and overseas importer?

g) What has happened to the overall balance of payments and overall welfare?

h) Do you think consumers would vote for a policy whereby the government could engage in dirty floats to benefit domestic producers and exporters? 

Question 2:

a. Using the diagram above draw a curve which describers the net import demand curve for wine in Euros when the exchange rate is €1.50/£1.

b. Repeat the exercise when the exchange rate is €1/£1. What has happened to the import demand curve?
c. If the international supply curve is perfectly elastic (horizontal) what has happened to i) the Euro revenues of foreign exporters, ii) UK expenditure on imports in pounds.

d. If we imagine that the diagram above represents rare whisky exports, draw a curve which describers the net export supply in euros when the exchange rate is €1.50/£1.

e. Repeat the exercise when the exchange rate is  €1/£1. What has happened to the export supply curve?

f. If the international demand curve is perfectly elastic (horizontal) what has happened to the revenues of domestic exporters i) in Euros, ii) in £.

g. What has happened to UK foreign reserves of Euros as a result of this change

h. If the international supply curve of wine were upward sloping and the international demand curve for whisky exports were not horizontal what implications would this have for the balance of payments?
Question 3:

What lessons can we draw from the above exercises on the effects of :

1. Fluctuating interest rates on import and export incentives in the Single European Market

2. The impact of dirty floats on import and export incentives and the likely reaction of other member states. 

3. The desirability or otherwise of an EU or world single currency.

